
Free Questions for 050-6201-ARCHERASC01 by certscare

Shared by Dunn on 12-12-2023

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1
Question Type: MultipleChoice

Why might you designate certain fields as required fields?

Options: 
A- To ensure values are added to those fields before the record is initially saved

B- To allow users to opt out of those fields

C- To ensure those fields appear by default in search results

D- To ensure values in those fields serve as hyperlinks into the record

Answer: 
A

Question 2
Question Type: MultipleChoice



Which of the following is true about Security Parameters?

Options: 
A- A Security Parameter cannot be assigned by default

B- A user can only be assigned one Security Parameter

C- Only Application Owners can be assigned a Security Parameter

D- A user can be assigned up to three Security Parameters

Answer: 
C

Question 3
Question Type: MultipleChoice

Where do you find the latest RSA Archer Platform architecture recommendations?



Options: 
A- Platform Planning Guide

B- DDE Reconciliation Guide

C- What's New Guide

D- Platform Administration Guide

Answer: 
A

Question 4
Question Type: MultipleChoice

Historically, each area of a typical organization would manage its own risks. How does RSA Archer's Operational Risk Management

solution area differ in approach?

Options: 
A- RSA Archer's ORM solution offers control of the complete risk life cycle, enabling improved governance of risk management activities

while also providing visibility to management



B- RSA Archer's ORM solution will send email notifications to all other areas of the business when a risk is realized anywhere in the

organization, thus promoting visibility and encouraging a quick reaction

C- RSA Archers ORM solution reduces the risk of IT and business disruption through specialized dashboards and reports

D- RSA Archer's ORM solution enforces a siloed approach, as this will give more power to each area of the business to make decisions

Answer: 
D

Question 5
Question Type: MultipleChoice

When an administrator selects to cascade private field permissions for a group, which of the following would be a valid result?

Options: 
A- Only members of BOTH the selected group and all child groups would have access to the field

B- Only members of the selected group would have access to the field, members of any child groups would NOT have access to the field

C- Members of the selected group would NOT have access to the field members of child groups would have access to the field



D- Members of the selected group and members of any child groups would have access to the field

Answer: 
D

Question 6
Question Type: MultipleChoice

Which of the following best describes RSA Archer?

Options: 
A- RSA Archer is a platform which allows you to adapt solutions to specific requirements and build new applications without touching

code

B- RSA Archer is a software solution which requires you to hard code changes to out-of-the-box solution functionality

C- RSA Archer is a platform which allows you to adapt solutions by hard coding new features into the program

D- RSA Archer is a software solution best used for Audit and Operational Risk Management



Answer: 
D

Question 7
Question Type: MultipleChoice

When an administrator selects the "As Needed" option for a Calculated Field, how is the calculation impacted?

Options: 
A- The field will be calculated only when the record is initially created.

B- The field will be calculated only when there is a scheduled calculation.

C- The field will be calculated every time a user clicks 'Save' or when there is a scheduled calculation.

D- The system will analyze the fields referenced by the calculation and determine when the field should be calculated.

Answer: 
D



Question 8
Question Type: MultipleChoice

On the Task-Driven Landing Page, what appears in a user's Tasks pane?

Options: 
A- An interface that allows the user to create and assign new tasks for other users

B- The top x-number of open Tasks, sorted by date. The administrator defines the maximum number of records that can appear

C- All Task Management records that have been recently edited, regardless of status

D- Up to 25 open Task Management records appear at the top; Archived (Closed) Task Management records appear in a collapsed

section at the bottom

Answer: 
A

Question 9
Question Type: MultipleChoice



Which of the following is a key feature of Issues Management?

Options: 
A- Improved leveraging of assessment results

B- Decentralized issues management process

C- Consolidated and coordinated list of findings and remediation plans

D- Increased reactive overload for business operations

Answer: 
D

Question 10
Question Type: MultipleChoice

All system users automatically belong to a built-in group named



Options: 
A- All

B- Everyone

C- Basic User Parameter

D- Enterprise Management

Answer: 
B

Question 11
Question Type: MultipleChoice

For which of the following field types is Trending an available option?

Options: 
A- IP Address



B- Values List

C- Text Date

Answer: 
A

Question 12
Question Type: MultipleChoice

Events can be used to trigger a number of different layout effects, based on a user's interaction with other fields in the application. Which

of the following actions CANNOT be triggered by an Event?

Options: 
A- Delete a record

B- Generate an email notification

C- Make a field conditionally required

D- Populate a values list with a selected value



Answer: 
A
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